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SECTION “A” 
Time: 20 Min        Marks: 15 

Note:Use this sheet for this section. No Marks will be awarded on cutting, erasing or overwriting. 
Q.1 Chose the correct option from the given Choices i-e (A,B,C,D) and insert into the given relevant box. 

 (i) If   )3,5)(2,4)(1,3(R is a binary relation then  R Dom is ______ 

 (A)  2,1    (B)  4,3         (C)  5,4,3    (D)  3,2,1  

(ii)  
 3

6

)( a
a  _____   (A) 3a     (B) 3a       (C) 9a  (D) 9a  

(iii) Multiplicative inverse of  
2
1  is ___________ 

(A) 
2
1    (B) 

2
1               (C) 2  (D) -2 

(iv)    ________42 2
1 2

     (A) 12        (B) 16       (C) 6 (D) 8 

(v) If 1log 15 a  then the value of  “a” is _________ 
 (A)1   (B) 15              (C)-15  (D) None  

(vi) 
n
m

alog  =  ____________  

(A) mn aa loglog   (B) nm aa loglog    (C) nm aa loglog  (D) None 

(vii) Characteristics of log is _______   (A) 4       (B) 4    (C) 3      (D) 2 

(viii)  ))(( baba  _____________ 
 (A) 22 ba   (B) 22 ba         (C) ba    (D) ba   
(ix)  bb 32  ____________ 
 (A) )3(2 bb   (B) )3( 2 bbb         (C) )3( bb  (D) )3( bb  
(x)  22 94 ba   ______________ 
 (A) 2)32( b (B) 22 )32()32( baba   (C) )32)(32( baba   (D) 22 8116 ba   

(xi) If 







13

2 x  is a singular matrix, then x  ___ (A)
2
3    (B) 0   (C) -1   (D) 

3
2  

(xii) if A,B and C are three matrices and A=BC then B= _______________ 

(A) 1AC  (B) 11  AC       (C)
B
A   (D) 

A
C  

(xiii) Infinite number of lines can pass through _______________ 

(A) One point (B) Two points      (C) Three points (D) No points  

(xiv)  A line segment has end points _____________ 

 (A) None (B) One  (C) Two (D) None  

(xv) The sum of measures of the interior angles of triangles is equal to ___________ 

(A) 090   (B) 0180    (C) 0270  (D) 0360  
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Mathematics 9th 
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(36)    

 (9)  2 

 C= {x/   x } B= { x/   x } U=N   i

 iii   ii

 v  x  iv

 vii   P(x) = x3 - 5x2 + 10  vi

 ix    x3 + y3 + z3 = 3xyz  x + y + z = 0  viii

  4x
4
 + 8x

3
 + 8x

2
 + 4x +1   xi  x

3x - 6y = - 5  ,   x - 2y = 6        xii

(24)   

 3  
 4 
 5 

  6 
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3
4log8 x  3 04106.0  









2
1P  

xx 1  31  xx  
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     SECTION “B”   Marks: 36 
Q2. Answer any Nine (9) of the following parts. Each carries equal marks.     

(i) Verify De.Morgan’s Law for the following. 

            U=N, B={ xx /  is an even number}     c= {  xx /  is a positive odd integer} 

(ii) Rationalize the denominator of 
65
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(iii) Simplify 




 




























 nnnm

n

mm

m x
x

x
x

x
x (iv)  Find the value of “ x ” when 

3
4log8 x  

(v) Simplify with the help of Logarithm 3 04106.0    

(vi) If 105)( 23  xxxP ,   find  







2
1P  

(vii) Find the value of xx 1  when 31  xx  

(viii) If 0 zyx  Then prove that  xyzzyx 3333  . 

(ix) Factorize  2
2 144

x
x        (x)   Simplify 

yx
y

yx
yx





 22  

(xi) Find the square root of 14884 234  xxxx  

(xii) Find the solution set of the following equations with the help of matrices. 
62,563  yxyx  

     SECTION “C”   Marks: 24 
Note: Attempt any THREE questions. All questions carry equal marks   
Q3.   If a side of a triangle is extended, the exterior angle so formed is, in measure, greater  

than either of the two opposite interior angles.  
Q4.     If two angles of a triangle are congruent, the sides opposite to these angles are also 

congruent.   
Q5. If a point is equidistant from the end points of a line segment, then it lies on the right  

bisector of that segment. 
Q.6  Construct PQR  when    075,8.3,3.4  QmcmQRmcmPQm   
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